Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER -V EXAMINATION -WINTER - 2018

Subject Code: 3352404 Date: 04-12-2018
Subject Name: MICROCONTROLLER FOR POWER ELECTRONICS
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Q1 Answer any seven out of ten. £2L Hizl 515U Ald, L syalod ALl

State the function of PC register.
PC 2[6r2:22 < 514 @vil.

How many register banks in 80517

couq Hisedl 2srzaz o5 €l £9?

Give the value of stack pointer upon Reset.
A4z sUUAL otdl 225 12z <l [sHd quil.

Which register bank conflict with stack memory?
225 HuZl A1 59 2Aoy222 ols (s 1A £9?

Write Full name of DJNZ instruction.
DINZ < Y2 lIH &uil,

Which pins are assigned to VCC and GND?

VCC 21 GND < 59 Ul syigiadl 9?2

List any four special function register of 8051.

£oUY <AL oK d AR UG 559 2A0ww2 AL AIH QU
Give reason to connect pull up resistor on port 0.

Yl 0 < Y 1Y 26y dolAdl < 51200 ALl

Which bits of PSW are used to select register bank?
PSW l 5% oilz 2(6yz2z o5 [Ads2 5241 HI2 AuIA 9?2

State “SETB A” format of Instruction is valid or invalid.
“SETB A” L HIed A4 89 5 <Al d sypudl.
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Q.2 Give function of clock circuit for 8051 with neat sketch.
URA R () coua <l sals U512 4 514 sl 212 @il

OR

~—~
&

(@ Draw block diagram of 8051.
()  <ouq -l odls SALUM IRl

(b)  Give two points in comparison to microcontroller and microprocessor.
(6)  HID5I52142 2 HIDSIUIAUR (L A0UHEL L 6 5L auil.

OR
(b)  Give the address of interrupts that is available in interrupt vector table.
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Draw Pin diagram of 8051 with proper notation.
couq Al dld S 210% (224 11, 212l
OR
Draw RAM Organization of 8051 with proper notation.
oUR L 2H SLAUAH 2194 [A294 2118 2131

List addressing modes of 8051 and explain register addressing mode with
example.
coua <l gL Hgl A2l oteidl 244 Asywez 21l Hig Beszil 2A41d]
AHMAL,

OR
Draw TMOD register. And give function of any two bit.
TMOD =2[5¥2:22 £i2l. wiel d<il AH A 61 6il2 o 513 Ul

Write a program to add 85H, 96H, BCH and 22H. Store result in RO and R1.
RO Should contain low byte.
85H, 96H, BCH vt 22H «ll A0 529 {12 Al WA @Vl Yloud RO 214 R1
Hi 2wl RO Hi @l oz ldl syl

OR
Write a program to subtract 8855H and 9696H. Store result in RO, R1 and R2.
RO Should contain low byte.
8855H w12l 9696H < clleodlsl s2eldl WA Vil uleuy RO, R1 i R2 4i
il RO i dl ollz ldl oxlshui.
To generate wave form of 2kHz having 50% duty cycle from the
microcontroller. Calculate the timer values that needed to load in timer
register. Assume that microcontroller is supplied with 12MHz crystal.
2 kHz Aol uo% &42l A58 U2 Al d4s14 HIO5152142 Higl ox22 5331l 9.
dl d "2 6v3<] 215942 22222 <l [5Hd 2lEl. HIsi521ar 12MHzZ (5224 A
SALLAG €9 dH HIRL.

OR
To generate wave form of 1kHz having 40% duty cycle from the
microcontroller. Calculate the timer values that needed to load in timer
register. Assume that microcontroller is supplied with 10MHz crystal.
1 kHz Aol wo% &42l A58 U2 Al dds14 HIO515214R Higl ox<22 5341l 9.
dl d "2 oy3<] 215942 229222 <l [5Hd 2lAl. HIs5i521a2 1oMHz (5224 A
SALLAG €9 dH HIRL.
List any three arithmetic instructions. And give example of any one.
AH, d AL ARUAS Seu2saled duil il o4 d Bis o GELSREL 24U

OR
List any three logical instructions. And give example of any one.

IAH, A A0 Al5E Heu2seed AV 2 AH d 2i5 o GELEEL 2L
Draw PSW register. And give function of any two bit.
PSW 2[65222 £i2l. 24 d«ll AH d 6 6{l2 o 513 241Ul

OR
Draw TCON register. And give function of any two bit.
TCON =2[5¥2:22 £iRl. vt d<il A1 d 61 6fl2 < 513 Ul

Write a program to perform multiplication of EFH and BCH. Store results in
R6 and R7. R7 Should contain low byte.
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EFH 21 BCH Il 9@lis12 521l WAIH Quil. ulBuH R6 244 R7 Hi 2wl R7 Hi

dl o152 $ldl sxidal.,

OR
Write a program to perform Division of 9FH with AOH. Store results in R6
and R7.

OFH < AOH 943 1L 52l UIAM, QUL ULlBIH R6 vt R7 Hi 21vAl,

Write a program to find no of 1's from the data 88H. Store result in R1.
88H Higfl 1 <l 2ival ALl WA QUL 2 d wREuH RL Hi 2Uvl.
OR

Write a program to exchange data of R6 and R7 without Push and Pop
Instruction. Assume R6=5BH and R7=AAH.

R6 vt R7 Hi 2@l 321 < Yal i Uiy, <l HeS 4012 Biat2sy 5341 HIZ <l WM
duil. R6=5BH i< R7=AAH HI3l.

To generate wave form of 1kHz having 50% duty cycle from the
microcontroller pin 5 of port 2. Assume that microcontroller is supplied with
11.0592MHz crystal.

1. Calculate the timer values that needed to load in timer register.

2. Write a program for the same.

1 kHz Aol uo% &42l Alisd W12l 445l HID51521aR Al ule 2 <Ll u
izl ored22 s2all 89, HID5I52143 110U MHz (5224 «12 sx181ig, 9 44
HIRL.

1. dl d HI2 sy23] 21542 229227 <l [51d Ui,

2. AL HIZ AL WA Uil

Give function of RLC instruction with example.
RLC ©<:425% < 51 GEls2W A14, ALl

Give function of MUL instruction with example.

MUL ©e25%, | 514 GElsW A12 AUl

Write a program to compliment data in Register A 4500000 times. Assume A
contains 99H.

2lsy222 A Hi 264l 321 4 4500000 Avid SIFUH2 5201 HIZ <AL WM dvil. A Hi

99H £9 dH HIRL.
Which values are needed on output port to rotate stepper motor continuously
with 80517

coud <l Hee @l 22U Hi22 4 Udd 52441 HIZ Al 2UG2Y2 Ui2 U= 56 [SHdL ¢ldl
Y1512
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